HACK
FOR WARDROBE




HACK FOR WARDROBE










The new Hack accessories for closets and dressing rooms are specially created to organize your home in the
most elegant way. Its minimalist design stands out for its textured finish in stone gray or black, the latest
trend in the design of closets in bedrooms and dressing rooms.

Die neuen Hack-Accessoires fur Schranke und Ankleidezimmer sind speziell fur die elegante Organisation
Ihres Zuhauses konzipiert. Sein minimalistisches Design zeichnet sich durch seine strukturierte Oberflache
in Steingrau oder Schwarz aus, dem neuesten Trend bei der Gestaltung von Schranken in Schlafzimmern
und Ankleidezimmern.

Nowe akcesoria Hack do szaf i garderoby sg specjalnie stworzone, aby zorganizowa¢ Twoj dom w
najbardziej elegancki sposob. Starannie zaprojektowany minimalistyczny styl wyréznia sie teksturowanym
wykonczeniem w kolorze kamiennej szarosci lub czerni, najnowszym trendem w projektowaniu szaf w
sypialniach i garderobach.

b
‘.:_
E
i

emuca™

where creation begins




emuca™

where creation begins

IndeXx

IS

ORGANIZER DRAWER

RACK WITH SOFT-CLOSE SLIDES SET OF SIDE SPACERS DRAWER OR WIRE BASKET

e

TRAY OR SHELF

TROUSER RODS AUXILIARY TRAY PULL-OUT SIDE SHOE RACK

PULL-OUT TROUSER RACK WARDROBE RAIL LIFT RECTANGULAR RAIL COMBINATIONS

n



HACK emuca™

where creation begins

Rack with soft-close slides for cabinet accessories Hack

Hack-Rahmen mit Schienen fur Schrankzubehér // Rama z szynami z systemem Soft-Close dla akcesoriow szafek Hack

A ‘ B ‘ Finishing ‘ Quantity ‘ Cod.

560 - 594 483 (M60) Textured stone color painted . 2 7113049
623 - 657 546 Textured stone color painted . 2 713149
682 -716 605 Textured stone color painted . 2 7N3249
741 - 775 664 Textured stone color painted . 2 713349
760 - 794 683 (M80)  Textured stone color painted . 2 7113449
798 - 832 721 Textured stone color painted . 2 713549
832 - 866 755 Textured stone color painted . 2 713649
860 - 894 783 (M90) Textured stone color painted . 2 TN3749
923 - 957 846 Textured stone color painted . 2 7113849
982 -1.016 905 Textured stone color painted . 2 7113949
1.041-1.075 964 Textured stone color painted . 2 7114049
Aluminium, Plastic
444
215

i

min.20

A
B

397
434

13




Set of side spacers for frame Hack

Satz seitliche Abstandshalter fir Rahmen Hack // Boczny zestaw dystansowy do ramy Hack

emuca™

where creation begins

‘ Quantity ‘ Cod.

Finishing
Stone colored plastic 2 715436
Plastic
5 301
e o] 30
9. &9 25
’g&%@: 4 ° ez§ga" 8[

- A spacer is required on the side of the cabinet where it coincides with the door and is installed in the place where the guide goes. Its
function is to leave a space of 25mm between the frame and the side of the cabinet so that the door does not collide with the frame.

- You can first install the spacer to the cabinet with @4x25mm screws and then attach the slide with EURO @6,2x13mm screws. Or you
can pre-mount the spacer to the rail with the built-in clips, and then attach the assembly to the cabinet with @4x40mm screws.

- Ein Abstandshalter wird an der Seite des Schranks benétigt, an der er mit der Tur zusammenfallt, und wird an der Stelle installiert,
wo die Fihrung verlauft. Seine Aufgabe ist es, einen Abstand von 25 mm zwischen dem Rahmen und der Seite des Schranks zu lassen,
damit die Tur nicht mit dem Rahmen kollidiert.

- Sie kénnen zuerst den Abstandshalter mit @4x25mm Schrauben am Schrank montieren und dann die Fihrung mit EURO
@6,2x13mm Schrauben befestigen. Oder Sie kénnen den Abstandshalter mit den eingebauten Clips an der Schiene vormontieren und
dann die Baugruppe mit @4x40mm Schrauben am Schrank befestigen.

- Po stronie szafki w miejscu, w ktérym styka sie ona z drzwiami, wymagany jest element dystansowy, ktéry montuje sie w miejscu, w
ktérym przebiega prowadnica. Jego zadaniem jest pozostawienie 25 mm wolnej przestrzeni pomiedzy ramg a bokiem korpusu, tak
aby drzwi nie kolidowaty z rama.

- Podktadke dystansowg mozna najpierw przymocowac do korpusu za pomocg wkretéw @4x25mm, a nastepnie zamocowac
szyne za pomocg wkretéw EURO @6,2x13mm. Mozna tez zamocowac tuleje dystansowg do szyny za pomoca klipséw, a nastgpnie
przymocowac jg do obudowy za pomoca $rub @4x40mm.

15



HACK emuca™

where creation begins

Drawer or wire basket for closets and dressers Hack

Schublade oder Drahtkorb fiir Schranke und Kommoden Hack // Szuflada lub kosz druciany do szafy Hack i komody

B Finishing ‘ Quantity ‘ Cod.

482 (M60)  Textured stone color painted . 2 TN4749

682 (M80)  Textured stone color painted . 2 7114849

782 (M90)  Textured stone color painted . 2 714949
Steel

==

17




HACK emuca™

where creation begins

Shoe drawer for closets and dressers Hack

Schuhschublade fir Schrianke und Kommoden Hack // Szuflada na buty do szafy i garderoby Hack

B Finishing ‘ Quantity ‘ Cod.

482 (M60)  Textured stone color painted . 2 714449
682 (M80)  Textured stone color painted . 2 714549
782 (M90)  Textured stone color painted . 2 714649

Steel

[ S5

106

391

19




(8
emuca®

Organizer drawer for closets and dressers Hack
Organisationsschublade fiir Schranke und Kommoden Hack // Szuflada organizacyjna do szafy i garderoby Hack

HACK

et 5
5 ,9«#‘&.»«.«;{0,”“‘% SRS S

S T Y]
R PR
e T e
POHSL0 U

RN
LTy PN

‘ Quantity ‘ Cod.

Finishing

7149

Textured stone color painted

483 (M60)

71M249

Textured stone color painted

683 (M80)

7M349

Textured stone color painted

783 (M90)

Wood

21

396




HACK emuca™

where creation begins

Tray or shelf for closets and dressers Hack

Tablett oder Regal fur Schranke und Garderoben Hack // Taca lub pétka do szaf i garderoby Hack

B Finishing ‘ Quantity ‘ Cod.
483 (M60)  Textured stone color painted . 2 7115149
683 (M80) Textured stone color painted . 2 7115249
783 (M90)  Textured stone color painted . 2 7115349

Steel
©
@
w0 v
‘l: [

396

23




HACK emuca™

where creation begins

Closet and dressing room organizer basket Hack

Organisationskorb fur Schranke und Garderoben Hack // Kosz organizacyjny do szafy i garderoby Hack

Finishing ‘ Quantity ‘ Cod.

Grey textil effect . 6 715827

Textile

130

240

350

25




HACK emuca™

where creation begins

Set of 7 trouser rods for closets and dressing rooms Hack

Satz von 7 Hosenstangen flir Schranke und Garderoben Hack // Zestaw 7 dragzkéw na spodnie do szafy Hack i garderoby

Finishing ‘ Quantity ‘ Cod.

Textured stone color painted . 7 7112049

Aluminium, Plastic

397

gp . |

Auxiliary tray for closets and dressing rooms Hack

Hilfstablett fur Schranke und Garderoben Hack // Taca pomochicza do szafy Hack i garderoby

Finishing ‘ Quantity ‘ Cod.
Transparent 2 7115920
Plastic

N
N
B
‘146‘

120

27




Kit organizer drawer Hack for wardrobes

Kit Schubladen-Organizer Hack fiir Schranke // Zestaw szuflada z przegrédkami Hack do szafy

Hack wire shoe rack kit for wardrobes

Draht-Schuhablage-Kit Hack flir Schranke // Zestaw drucianych pétek na buty Hack do szaf

M60 M80 M9o0

Trouser rod kit Hack for wardrobes

Hosenstangen-Bausatz Hack flr Schranke // Zestaw na spodnie Hack do szafy

emuca™

where creation begins

‘ Quantity ‘ Cod.

B Finishing
483 (M60)  Textured stone color painted 1 7028654
683 (M80) Textured stone color painted 1 7028754
783 (M90)  Textured stone color painted 1 7028854
Steel
B Finishing ‘ Quantity ‘ Cod.
483 (M60)  Textured stone color painted 1 7028054
683 (M80) Textured stone color painted 1 7028154
783 (M90)  Textured stone color painted 1 7028254
Steel
B Finishing ‘ Quantity ‘ Cod.
483 (M60)  Textured stone color painted 1 7029254
683 (M80) Textured stone color painted 1 7029354
783 (M90)  Textured stone color painted 1 7029454
Steel

29



emuca™

Compositions // Kompositionen // Kompozycje where creation begins

B=605

B =483 (M60)

713049 + 7111149 713149 + 7112049 + 7115920 713249 + 7115149 + 7115920

B =664 B =683 (M80) B=721

TN3349 + 714749 + 7112049 TN3449 + 7114549 7N3549 + 7112049 + 7115920

B=755 '~ B=783(M90) B =846

7113649 + 7115349 + 7112049 + 7115827 TN3749 + 7114949 7N3849 + 7111349 + 7112049

B =905
7113949 + 7115349 + 7115920 + 7115827 74049 + 7114649 + 7112049

31



HACK emuca™

where creation begins

Pull-out side shoe rack for closets and walk-in closets Hack

Ausziehbares seitliches Schuhregal fiir Schranke und begehbare Kleiderschranke Hack // Wysuwana pé6tka na buty do szafy typu Hack i garderoby typu walk-in

Hand Finishing ‘ Quantity ‘ Cod.
Right Textured stone color painted . 1 712649
Left Textured stone color painted . 1 N2749
Steel
A
[o ) N e —
N H = = P
o —I=
3}
©
| =
1
| = = |
\ 444 \ |_ 280-320

slow N
e &

Left Right
lo ol
h=
= =g
= =
lo= =l

33




emuca™

where creation begins

Pull-out trouser rack for closets and walk-in closets Hack

Ausziehbarer Hosenbligel fur Schranke und Garderoben Hack // Wysuwany wieszak na spodnie do szafy Hack i garderoby

Finishing ‘ Quantity ‘ Cod.
Textured stone color painted 1 7017849
Steel
/|
L 4
470
82 288
o @2 =3
o o
- For mounting on either right or left-hand side.
- Kann rechts oder links angebracht werden.
- Do montazu zaréwno po prawej, jak i po lewej stronie.
Pull-out mirror for inside wardrobe
Ausziehbarer Innenspiegel fur Schranke // Wysuwane lustro do szafy
Finishing ‘ Quantity ‘ Cod.
350 40 Textured stone color painted 1 7018049
-

Glass, steel and plastic

1.000

35




HACK emuca™

where creation begins

Hang pull down wardrobe rail lift

Kleiderlift fiir Garderoben Hang // Pantograf Hang

A Finishing ‘ Quantity ‘ Cod.

450 - 600 Textured stone color painted . 1 9283749

600 - 830 Textured stone color painted 1 9283849

830 -1150 Textured stone color painted 1 9283949

°
%
E
N
< 175
R A
X

Seitlicher Abstandhalter flr Kleiderlift fir Garderoben Hang // Wktadka boczna do pantografu Hang

Steel adn plastic

750

850

610

7

=
(=)
)
=
()
w
=
=z
=
g

Side supplement for Hang pull down wardrobe rail lift

— T Finishing ‘ Quantity ‘ Cod.
o o Textured stone color painted . 2 7085049
° 4 o Plastic
O
[V
-~ 140 | |20

37




emuca™

where creation begins

Luxe rectangular wardrobe rail kit
Rechteckige Schrankstange Luxe // Drazek kwadratowy do szafy Luxe

L Finishing ‘ Quantity ‘ Cod.
14
235m Stone color painted 10 7100849
0 Aluminium
]
43
Luxe wardrobe rail support set
Trager-Set fur Schrankstange Luxe // Zestaw uchwytéw do szafy Luxe
‘ Quantity ‘ Cod.

Finishing

Stone color painted 10 7102049
8
Zamak
= .
‘.,\/

28

33

i
i
|
1
i

S—

‘ p=
m:L
; =
Luxe wardrobe rail central support
Zentrale Halterung fiir Schrankstange Luxe // Srodkowy uchwyt drazka do szafy Luxe
20
1A M6
) ™
¥
\} }\ Finishing ‘ Quantity ‘ Cod.
(52]
3 Stone color painted 20 7100349
< Zamak
&
14,5

ECREE
39




R S AR SOPHISTICATED SPACES

A TP i




ST~ T WY,




HACK
FOR WARDROBE

The new Hack accessories for closets and dressing rooms are specially created to organize your home in the
most elegant way. Its minimalist design stands out for its textured finish in stone gray or black, the latest
trend in the design of closets in bedrooms and dressing rooms.

Die neuen Hack-Accessoires fur Schranke und Ankleidezimmer sind speziell fur die elegante Organisation
Ihres Zuhauses konzipiert. Sein minimalistisches Design zeichnet sich durch seine strukturierte Oberflache
in Steingrau oder Schwarz aus, dem neuesten Trend bei der Gestaltung von Schranken in Schlafzimmern
und Ankleidezimmern.

Nowe akcesoria Hack do szaf i garderoby sg specjalnie stworzone, aby zorganizowa¢ Twoj dom w
najbardziej elegancki sposdb. Starannie zaprojektowany minimalistyczny styl wyréznia sie teksturowanym
wykonczeniem w kolorze kamiennej szarosci lub czerni, najnowszym trendem w projektowaniu szaf w
sypialniach i garderobach.

emuca™

where creation begins

45



emuca™

where creation begins

IndeXx

RACK WITH SOFT-CLOSE SLIDES SHOE DRAWER

TROUSER RODS

~\'u

»
.

AARRB R .

i :
PULL-OUT TROUSER RACK WARDROBE RAIL LIFT RECTANGULAR RAIL COMBINATIONS

]

47




HACK

Rack with soft-close slides for cabinet accessories Hack

Hack-Rahmen mit Schienen fur Schrankzubehér // Rama z szynami z systemem Soft-Close dla akcesoriow szafek Hack

» |

emuca™

where creation begins

‘ Quantity ‘ Cod.

Finishing
560 - 594 483 (M60) Textured black painted . 2 713054
623 - 657 546 Textured black painted . 2 7N3154
682 -716 605 Textured black painted . 2 7N3254
741 - 775 664 Textured black painted . 2 73354
760 - 794 683 (M80) Textured black painted . 2 TN3454
798 - 832 721 Textured black painted . 2 7N3554
832 - 866 755 Textured black painted . 2 713654
860 - 894 783 (M90) Textured black painted . 2 TN3754
923 - 957 846 Textured black painted . 2 7113854
982 -1.016 905 Textured black painted . 2 7113954
1.041-1.075 964 Textured black painted . 2 7114054
Aluminium, Plastic
444
215
& ﬁ
™5
L1e
>
(=]
N
=
£
</ m
= = £
397
434




HACK

Set of side spacers for frame Hack

Satz seitliche Abstandshalter fir Rahmen Hack // Boczny zestaw dystansowy do ramy Hack

- A spacer is required on the side of the cabinet where it coincides with the door and is installed in the place where the guide goes. Its
function is to leave a space of 25mm between the frame and the side of the cabinet so that the door does not collide with the frame.

- You can first install the spacer to the cabinet with @4x25mm screws and then attach the slide with EURO @6,2x13mm screws. Or you
can pre-mount the spacer to the rail with the built-in clips, and then attach the assembly to the cabinet with @4x40mm screws.

- Ein Abstandshalter wird an der Seite des Schranks benétigt, an der er mit der Tur zusammenfallt, und wird an der Stelle installiert,
wo die Fihrung verlauft. Seine Aufgabe ist es, einen Abstand von 25 mm zwischen dem Rahmen und der Seite des Schranks zu lassen,
damit die Tur nicht mit dem Rahmen kollidiert.

- Sie kénnen zuerst den Abstandshalter mit @4x25mm Schrauben am Schrank montieren und dann die Fihrung mit EURO
@6,2x13mm Schrauben befestigen. Oder Sie kénnen den Abstandshalter mit den eingebauten Clips an der Schiene vormontieren und
dann die Baugruppe mit @4x40mm Schrauben am Schrank befestigen.

- Po stronie szafki w miejscu, w ktérym styka sie ona z drzwiami, wymagany jest element dystansowy, ktéry montuje sie w miejscu, w
ktérym przebiega prowadnica. Jego zadaniem jest pozostawienie 25 mm wolnej przestrzeni pomiedzy ramg a bokiem korpusu, tak
aby drzwi nie kolidowaty z rama.

- Podktadke dystansowg mozna najpierw przymocowac do korpusu za pomocg wkretéw @4x25mm, a nastepnie zamocowac
szyne za pomocg wkretéw EURO @6,2x13mm. Mozna tez zamocowac tuleje dystansowg do szyny za pomoca klipséw, a nastgpnie
przymocowac jg do obudowy za pomoca $rub @4x40mm.

emuca™

where creation begins

‘ Quantity ‘ Cod.

Finishing
Black plastic . 2 715417
Plastic
301
92
34 )

51



HACK emuca™

where creation begins

Drawer or wire basket for closets and dressers Hack

Schublade oder Drahtkorb fiir Schranke und Kommoden Hack // Szuflada lub kosz druciany do szafy Hack i komody

B Finishing ‘ Quantity ‘ Cod.

482 (M60) Textured black painted 2 TN&754

2 7114954

682 (M80) Textured black painted . 2 714854

782 (M90) Textured black painted

Steel

53




HACK emuca™

where creation begins

Shoe drawer for closets and dressers Hack

Schuhschublade fiir Schranke und Kommoden Hack // Szuflada na buty do szafy i garderoby Hack

B Finishing ‘ Quantity ‘ Cod.

482 (M60) Textured black painted 2 TN4454

2 714654

682 (M80) Textured black painted . 2 714554

782 (M90) Textured black painted

Steel

IO

106

391

55




Wood
57

Cod.
7149
71M249
7M349

396

Quantity
1
1
1

emuca™

where creation begins

Finishing

Textured stone color painted
Textured stone color painted
Textured stone color painted

B
483 (M60)
683 (M80)
783 (M90)

Organisationsschublade fur Schranke und Kommoden Hack // Szuflada organizacyjna do szafy i garderoby Hack

Organizer drawer for closets and dressers Hack

HACK

e e
b L) ey
SIS e
\




HACK emuca™

where creation begins

Tray or shelf for closets and dressers Hack

Tablett oder Regal flir Schranke und Garderoben Hack // Taca lub pétka do szaf i garderoby Hack

B Finishing ‘ Quantity ‘ Cod.
483 (M60) Textured black painted . 2 7115154
683 (M80) Textured black painted . 2 7115254
783 (M90) Textured black painted . 2 7115354

Steel

©

@

e v

‘l: [ —

396

59




HACK emuca™

where creation begins

Closet and dressing room organizer basket Hack

Organisationskorb fur Schranke und Garderoben Hack // Kosz organizacyjny do szafy i garderoby Hack

Finishing ‘ Quantity ‘ Cod.

Grey textil effect ‘ 6 7ns827
Textile
o
™
—
o
<
N
350

61




HACK emuca™

where creation begins

Set of 7 trouser rods for closets and dressing rooms Hack

Satz von 7 Hosenstangen fur Schranke und Garderoben Hack // Zestaw 7 dragzkéw na spodnie do szafy Hack i garderoby

Finishing ‘ Quantity ‘ Cod.

Textured black painted . 7 7112054

Aluminium, Plastic

397

Auxiliary tray for closets and dressing rooms Hack

Hilfstablett fur Schranke und Garderoben Hack // Taca pomochicza do szafy Hack i garderoby

Finishing ‘ Quantity ‘ Cod.
Transparent 2 7115920
Plastic

‘146‘

120

63




HACK emuca™

where creation begins

Kit organizer drawer Hack for wardrobes

Kit Schubladen-Organizer Hack fur Schranke // Zestaw szuflada z przegrédkami Hack do szafy

B Finishing ‘ Quantity ‘ Cod.

483 (M60) Textured black painted . 1 7028654
683 (M80) Textured black painted . 1 7028754
783 (M90) Textured black painted . 1 7028854
Steel
Hack wire shoe rack kit for wardrobes
Draht-Schuhablage-Kit Hack flir Schranke // Zestaw drucianych pétek na buty Hack do szaf
B Finishing ‘ Quantity ‘ Cod.
483 (M60) Textured black painted . 1 7028054
683 (M80) Textured black painted . 1 7028154
783 (M90) Textured black painted . 1 7028254
Steel
M60 M80 M90
Trouser rod kit Hack for wardrobes
Hosenstangen-Bausatz Hack flr Schranke // Zestaw na spodnie Hack do szafy
B Finishing ‘ Quantity ‘ Cod.
483 (M60) Textured black painted . 1 7029254
683 (M80) Textured black painted . 1 7029354
783 (M90) Textured black painted . 1 7029454
Steel

65




emuca™

Compositions // Kompositionen // Kompozycje where creation begins

B =483 (M60)

7113054 + 7111149 713154 + 7112054 + 7115920 7N3254 + 7115154 + 7115920

)

B =683 (M80)

TN3354 + 714754 + 7112054 TN3454 + 7114554 7N3554 + 7112054 + 7115920

B =755 B =783 (M90)

7113654 + 7115354 + 7112054 + 7115827 TN3754 + 7114954 713854 + 7111349 + 7112054

713954 + 7115354 + 7115920 + 7115827 714054 + 7114654 + 7112054




HACK emuca™

where creation begins

Pull-out side shoe rack for closets and walk-in closets Hack

Ausziehbares seitliches Schuhregal fiir Schrianke und begehbare Kleiderschranke Hack // Wysuwana pétka na buty do szafy typu Hack i garderoby typu walk-in

Hand Finishing ‘ Quantity ‘ Cod.
Right Textured black painted . 1 7112654
Left Textured black painted . 1 712754
Steel
o
[o ) N e —
2\

L
I

632,5

|

\ 444 \ | 280-320

slow N
e &

Left Right
lo ol
h=
= =g
= =
lo= =l

69




HACK emuca™

where creation begins

Pull-out trouser rack for closets and walk-in closets Hack

Ausziehbarer Hosenbligel fur Schranke und Garderoben Hack // Wysuwany wieszak na spodnie do szafy Hack i garderoby

Finishing ‘ Quantity ‘ Cod.
Black painted . 1 7017814
Steel
470
82 288
o b= = ¢
o o
- For mounting on either right or left-hand side.
- Kann rechts oder links angebracht werden.
- Do montazu zaréwno po prawej, jak i po lewej stronie.
Pull-out mirror for inside wardrobe
Ausziehbarer Innenspiegel fiir Schranke // Wysuwane lustro do szafy
Finishing ‘ Quantity ‘ Cod.
350 40 Textured black painted . 1 7018054
-

Glass, steel and plastic

1.000

71




HACK emuca™

where creation begins

Hang pull down wardrobe rail lift

Kleiderlift fur Garderoben Hang // Pantograf Hang

A Finishing ‘ Quantity ‘ Cod.

|
450 - 600 Black painted . 1 9283749
600 - 830 Black painted . 1 9283849
830 - 1150 Black painted . 1 9283949

Steel adn plastic

750

850

610

%
s
N
< 175
R A

Seitlicher Abstandhalter flr Kleiderlift fir Garderoben Hang // Wktadka boczna do pantografu Hang

Side supplement for Hang pull down wardrobe rail lift

— T Finishing ‘ Quantity ‘ Cod.
Black painted . 2 7085049
° 4 o Plastic
%]
[V
- 140 | .20

73




HACK emuca™

where creation begins

Luxe rectangular wardrobe rail kit

Rechteckige Schrankstange Luxe // Drazek kwadratowy do szafy Luxe

L Finishing ‘ Quantity ‘ Cod.

14
235m Stone color painted 10 7100849
0 Aluminium
]
43
Luxe wardrobe rail support set
Trager-Set fur Schrankstange Luxe // Zestaw uchwytéw do szafy Luxe
&
Q Finishing ‘ Quantity ‘ Cod.
o Stone color painted 10 7102049
|
L Zamak
P
14,5
o
7 [&l=
Luxe wardrobe rail central support
Zentrale Halterung fiir Schrankstange Luxe // Srodkowy uchwyt drazka do szafy Luxe
20
M6
T
Il
i
Il Finishing ‘ Quantity ‘ Cod.
o | B
3 Stone color painted 20 7100349
< Zamak
&
G 14,5
ECREE

75




HACK FOR WARDROBE




emuca™

Emuca S.R.L
Via Messico, 80 « 35127 Padova (ITALIA)
T. +39 049 8702800 « F. +39 049 87 03019
www.emuca.it

Emuca Ltd.
75 Springfield Road « Chelmsford « Essex
CM2 6JG (UK)
T. +44 1268 530 674 « F. +44 1268 282 592
www.emuca.co.uk

Emuca S.A.

PI. El Oliveral - ¢/H, 4 » Apartado de correos 176
46394 Riba-Roja del Turia * Valencia (ESPANA)
T.+34 96 166 70 19 * F. +34 96 166 71 82
www.emuca.es

Emuca S.A.R.L
Parc de I’Aubiniére « 2 Avenue des Améthystes
44338 Nantes Cedex 03 (FRANCE)
T.+33249880735+F. +33272220224
www.emuca.fr

Emuca Lda.
AV. da Liberdade n° 38, 4° « 1250-145 Lisboa (PORTUGAL)
T. +351 211203 940 +F. +34 96 166 71 82
www.emuca.pt

AENOR UNIEN IS0 9001:2015

E ®mIENet m

a Cop W
e r Rriquant

Empresa empresa CERTIQUALITY

Registrada P SISTEMA DI GESTIONE £ MEMBRO DELLA

UNEEN 150 900 QUALITA CERTIFICATO FEDERAZIONE CISQ

ER-0896/1999

ODELEREE




